Using subtraction
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Down with Darts

Charlotte and Lawrence are competing against each otherin a game of darts. Each player
starts with 100 points. After each turn, they subtract their score from their previous total of
points. The first player to get exactly zero wins.

ACTIVITY

On their first turn, each player scores 10. 100 minus 10 is 90, so they are each on 90 points.
After two more turns, Charlotte has 71, and Lawrence has 69.

1. On their fourth turn ...

A 13!
My score is 69 minus
13.

That’s the same as 70
minus 14 ...

Double 8 is 16.
My score is 71 minus 16. | could
take away 20 and add 4.
That's ...

Estimate who is winning after four turns. Check your estimate by calculating each person’s score.

2. Here are the darts from the next turns.
a. Work out the scores for each player after each turn.

of the dartboard is called
the bullseye. The red circle
is worth 50 points, and
the black ring around it
is worth 25 points.

b. What double or triple Double 10 Triple six

would each player need

to finish? Remember that they have to get exactly zero!




